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1 00

oooboo,0b0o0b,bo0obbo0oboooboooboooboooo.

1.1 DODOOO0ODO

0o0,MnR)0Onxni0000000000000O. 0O0,00 geMn,R)0DO0OOO
det(g) DD O.

00 1.1. GL(n,R) := {g € M(n,R) |det(g) #0} 0 00000 OOO.

oooO0oo GL(n,R)0,000000000000.00,0000000000000000
0o000000000. 00 ¢g000000 YOO0OO,n0000000 I,000.

0 1.2. 000,00000 GL(n,R)0000000
(1) SL(n,R) := {g € GL(n,R) | det(¢) =1} (000 0DODOOD 0OOO).
(2) O(n) :={g € GL(n,R) |tgg=1,} (00O DOO 00OO).
(3) SO(n) :=SL(n,R)NO(n) (00O 00000 0OOO).

00.00000 GL(»,R) 0000000000000000, 0000000000000
0000000000000, (1) 00000 SL(»,R) 0000000000, 000000
det(gh) = det(g)det(h) 0O DOD. (2) 000 O(r) 00DO0ODDODOOOD,0000000
Y(gh)="h'¢ 0000. (3) 00000 SO(r) DODODODODOOO0OO0,00000D0000000C
0000000Do00oo0. O

00,000 O(r) 0 R"O00000000000000000. 000,R*0000000
()O,R"00000000000,

(v,w) :=="vw  (u,w € R™) (1.1)
gbbooobogoboobobogb.

00 13.0¢geMnR)0OD0O0,00000000000:

(1) g € O(n).
(2) g0 (,)0D00.0000,000 v,weR*OOOO, (gv,gw) = (v,w).
3) g=(v1---v,) 000D, {v1,...,v,} 0 R*ODOOOOD.

00.00,(1)=(2)000.00000,¢g€0(n)00000.000 v,wecR*O0O0. 00
(,yooooo,

{gv, gw) = "(gv)(gw) = "v('gg)w = "vw = (v, w). (1.2)



0O0O0,g¢0 ()OO0,

00,(2)=(3)000.00000,¢9000000 ()00000000.00,¢9= (v;---v,)

D0D.R*00000000 {er,...,e,} 000D,
ge; = (v1---vp)e; = ;.
DDD,&M ooooooooooooooo,
(vi,v5) = (gei, gej) = (ei, e5) = dij.

oooo, {vy,...,v,} 0 R*0000000000.

000,(3)=(1)000.00000,9g=(»n---v,) 0000000, {vy,..

gobooobogoooboooboo.bog,

tgg = (o1 -~ vp)(v1 - v) = (wivg) = (855) = In.

(1.3)

(1.4)

LUt O R™ 0O

(1.5)

00,0000000000 det(fy) =det(g) 000 det(g) #0000. 000, ge On) OO

a.

O



2 J00OO00booobooobobooo

gobogobo,bbooobooob,bbogobbooboboo. bo,0ooobboon
ob0,0000b00boooo.

21 0O0OO0O0DOOOOOO

goooOo,000d000d0oo0Ooodooogo,bo0ooD0o0oDOo0oooOob0. oD Xooo
0YOOUOOUOOOOOO Map(X,Y)OOoOO.

00 21. MOOOOO,00 s: M — Map(M,M):p—s, 0000.0000,0 (M,s) O
0000 ooooo,oo0oooooon:

(S1) Vp € M, s,(p) = p.

(S2) Vp e M,(s,)? =idys.

(S3) Vp,q € M,s, 05, = 5,(q) © 5p-

0000 (M,s) 0000,s0 000000,0 5,0 p0O000 000 000. 0000
(M,s) 000 MOODOOODOO.O000000,000 peMOO0OO, (s,) '=s,000.

0 2.2. 00000 MO,000000000000000:0peMO000, sp:=iduy.

goobogobbuooboobboobbuogobbdoo. ggobooobbuooobboon
goooobooo,0b0o0oooo ooo.

023 00000000 RO, 00000000OOOOOOOO: O p,xeROOOO,
sp(z) :==2p —x.

00. 0000000 (S1)0000. 00 (S2)000. 000 pzeROODO,
(sp)Q(:c):sp(2p—a:):2p—(2p—x)::c. (2.1)

000, (sp)?=idg 0O 0.
00,00 (S3)0D00. 000 pg,xeROODOO,

(sposg)(@) =sp(2¢ —z) =2p— (2 —2) = 2p — 2 + =, (2.2)
(8s,(q) © 5p)(T) = 8(2p—)(2p — ) =2(2p —q) — (2p —7) = 2p — 2q + x.

00000, 8508, =8,,(q) 08, 000, O

22 00O0OO

coooo,00o0o0o0bocoboo,bcoboooooboobooboon.



00 24. MOOOOO,00 s: M — Map(M,M):p—s, 0000.0000,0 (M,s) O
o000 oooog,ouoooogon:

(Q1) Vp € M, s,(p) = p.

(Q2) Ype M, s, 000D,

(Q?’) Vp,qEM, SPOSQZSSP(Q)OSP'

o000 (M,s)000O0,s0 000000 O0O0O.0000 (M,s)000 MOOOOOO
go.
gbo,b00b0bo0obooboboobboooboog.

OO0 25. 0000 (M,s)0,0000000.

000,00000000000000D00D00DO00.00D00D00,000000000 230
gooooboooboobooboobob.boobboob oooboob ooooboog.



3 D0OO00oooooooooon
00000000000000000000.0000,00000000000,000000

oOoooooo0oooooo.

31 0000000
00000,0000000000000,000000000000000.

00 3.1. (M,s) 0000000, G(M):=(syos,|p,ge M)DDOO. 0000, MO OO
00000,G(M)00000000000.

00 GM)D 0000 000.
0 3.2.0000000000000.
0 3.3.02300000000000.

0O0.GR)0000000DDO0OO0O00OOD. 0000 430000,%Z/,Z0 ROOOOOO
00000.000,0 44000000 G9M)0O0D00000000. 000,00 4300,
G(M)00000D000DDO0OO0. O

32 00OO0O0OO0O0ODOOODOOOOO

00000,00000000000,0000000000000000000.000000
0, (My,s1),(Msy,s;) 00000000000,

00 3.4. M; 0 M, OOO My x M,OOOO,00 sO My x M, OOOOOOOOOO:
SZM1 ><M2—>Map(M1 XM27M1 XMQ):(pl,pg)%((sl)pl,(SQ)m). (31)

oo, ((31)p17 (82)p2)(3}1,l’2) s ((Sl)pl (.%'1), (32)172 ($2)) ooo.

00.0000000 (Ql), (Q2) O 8,5, 000000000000, (Q3) 000. OO
O p,gz € My x M, OOO. OO0, p = (p1,p2), ¢ = (q1,¢2), * = (x1,22) (p1,q1,21 €



My, p2,q2,72 € Mp) DO O. OO0,

(8p 059)(®) = sp o ((51) g1, (52)g0) (71, T2)

p((81)q, (21), (52) g, (22))

(51)p1s (52)p2) ((51) g, (#1), (52) g5 (72))

(51)p1 © (81)qr (1), (82)ps © (52)gs (22)) (3.2)
(81)(s1)py (a1) © (81)p1 (T1); (82) (s2),, (g2) © (52)ps (22))

(81)(s1)p, (a1) © (81)p15 (82) (52)p, (42) © (52)p2) (@1, T2)

(q) (e} Sp(l').

(
(
(
(

000, sposg=8s,q°sp 000 O

00 (Myx M,,s)0 0000 MO0 M, 0OODO 0OO.

0d 3.5. Mi,M, 00OOODODOOOO. 0000, My xM,OODODOO. 0OO0ODOOODODO.

00. M,M, 00000000000, My xM,O0ODO0DO0D0O0. 0000, GY(M;)
0 G(M;) D0DO0OOO. 00000, G°M) xG(M;) DODOOO. 00,0000
GY(M;) x GO(Ms) D GO(My x My). 000, GO(My x My) 00000000 Myx M, 0O0O
ooao.

0000. My xM, 0OOOOODOOOOO. M; 00000000000, 000, (s1)0
(51)p, (51)c © (51)q € G°(My) (a,b,c,d € M) DODO. 0000, (a,z),(bx),(c,z),(d,x) €
My x My, (xeM;)00OD. 000O,

(8(a,2) © 8(b,2)) © (8(c,z) © 8(dyx)) = (S(c,z) © 8(dyx)) © (S(ae) © S(b,ar)) (3.3)
0o0O00. 000,
(((s1)a © (51)p) © ((s1)e © (s51)a), ((52)2)*) = (((s1)e © (s51)a) © ((51)a © (51)6), ((s2)2)"). (3.4)

000, ((s1)a© (s1)p) 0 ((s1)c 0 (s1)a) = ((s1)c 0 (s1)a) © ((s1)a© (s1)p) OO, GO(My) OO OO
o0ddod M 000000, M, OOOOODOOOOOOOOOOOOO0. O



4 JUJU0d0d0dddUoUououooga
0ooo00,00000000000,000000000000. 00,00 35000,00
00oooo0oo0oooooo.
41 ODODOOOO
00000,000000000000.

00 41. neN(n>3)0000,Z/mZ 0,00 s0000000000: O p,a € Z/nZ O
004, sp(x) :==2p—z.

0230000000000000D0000. OOODOODOO ODOoOooOoOOdoO oog, R, O
gog. gggg,oobobboboooooooooooooooo. boog,boobooboboo
ooooooo oooob. 0boobo,0 nO0OO0OO0ODOOOOOOOD,DO0O0DDOODOOO
1,...,n,—1000.0000,0n000000 p0000D000000D00 2000 sp(x)
goo.

0

2 v 3

01 n=5000

42 0O0O0OO0OOOOOODOODO

gogoboo,bbbobbuodooogob,obbbbbooooooobbobbouoooon
goo.

00 4.2. 000000O0O0O0OODOODODAO.

00 G%R,)00D000000.000,p,z€eZ/mZO000,r,(z):=2+2000.00



000,00 n000 22 00000 2000 ry(2) 00O,

0

2 3

02 n=5000

00 4.3. s,y 0000,000000:

SpOTq = S(p—q)-

)
)
)
(3) 7p 0 $q = S(ptq)-
)
)
0

00.(0)0 r00000000.(1)000.000 pgzeZ/nZ000. 000,
(sposg)(z) =sp(2¢ —2) =2p— (29 —z) =2(p — @) + T = 1(p—q) (). (4.1)

OO0, sposq=rpq 000.
(2),(3),(4)0 (1)ooODOooDOODOODOOUDO. ()0 ()0 (4)UDODO. O

0000,000 peZ/nZ0000 (rp,)"'=r_,000000000.00,00 4300,
G(R,)0 r000000000000.

0 44. 000000: G%R,) ={rp | p € Z/nZ}.
00 4.5. 000000000000O0.

00.GYR,) 000000000O0D0000. 0 4400,G%R,) 0 SO(2) 00000000
000000.S0(2)000000,G %R, 000000. O

00 420,00 35000 45000000.



5 001

goooo,bogbooobooboobobooboob. oboo,booobooboon
gbobogbooon.

51 000

00000, 000000000,0000000000000. 0000O0D0O,GO0OO0,
000000 edOO. 00 MOOOOODO.

00 5.1.00 &:GxM—-MODOOO,
g.p = ®(g,p) (5.1)

o00.00 ¢0 GO MOO OO0 OOOO0OO0,000000000:

(Al) 000 g,heGOOODOO0O peMOOOO (gh).p=g.(h.p).
(A2) D00 peMOOOO, ep=np.

00000000000, 0000 0000 OD00OO0O0OO0O0OOO0OO0.0 GOOO MOOOO
0000,00 GAMOOOODOODOO.

000000,0000000000,GO00 Bij(M)OD0OOD0ODO0DDODOODOODODOOUOOOOO
o0o0o000.000,BjjM) 0 MOO MDODOODOODOODOOOOOOO.

00 5.2. 00 ¢:GxM —-MOODOO, pep) :==P(g,p) D00. 0OOO0,000000
Oo0:

() 0000000,
(2) :G—Bij(M):g— p,00000000.

00. (1)=(2)000.0000000000:
(a) 000 ge GOOOO ¢4 € Bij(M).
(b) py0OODDODOO.

oo, 0dddddoggo,dgoogogd:

©gh = g0 n, pe =1dy (g,h € G). (5.2)

0000,000 geGOOODO ¢, 0 ¢, 0000000.000,9, 000000000,
() D00DO0. 00, ()0 (52)00000000.

00 (2)=(1)000.0000000000:

(¢ 000 g,heGOOOOOO peMOOOO (gh).p=g.(h,p).

(d) 000 pe M OOODO, ep=p.



()0 oy 00000O0OO0OO0OO0OOOOOOOOOD. OO0 d O O000O0O0O0OOOOOOO
we=1idy, O0O0OO00O,0000. O

gbbgobo,ggbbooboooboobobuooboboobn.

o0 53. 00 ¢:GxM—-MOOOD GO MOOOODODOOOO.OoOOO,

(1) 000000 ¢ c@G0,0000 &|exy 000 MOOOOO.

(2) 0000 McMO GOOOOODOO0O0000 (0000,000 geG 00000
OpeM 0000,gpeM 00000).0000,0000 @|gxm:GxM — M
000 GO M’ 00000.

00.00 ¢o:G—=Bij(M):g—¢,00,¢,: M —-M:p—gpO00000.00 5200,
eO00000000.000,(1)0,0000 ¢le:G —Bij(M)0000000000000
0.00 (2)0,M'0 GOOD00000D0000, ¢, |weBijM)000,00000000
gooogooooog. ]

00000O000,00000000000000.
0 5.4. GL(2,R) 000000000,R20 gv:=¢gv0000000.

00.005300,GL(2,R)0 R0 000000000000. 00000 (A1)O,000
0000000000.00 (A2)000. O

0 5.5.012)000000000,00 810 gv:=gv0000000.

00.00 5300,0(2)0 $10000000000000. O2)0 GL(2,R) 000000
00,0 5400,R?0 gw:=gw0000000. 00000 1.300,0(2)0,00000
(,Y0OOODOOOo,00 $000.00000,005300,02)0 st00000. O

52 0O0OOOOOO
gbooog,bbooboooobogoboo,oobboobooooog.

00 5.6. 0 GOOO MOOOUODOO OO0 O0,00000000:000 pgeMOOnO
O,9gp=qU000 geGOOOOO.

gboooob,bogobogboooooo.

00 5.7. GOO,G 000000000. 00,GO00 MOODOODOODOOOO.OOOO,
G'0MOOOOOODODOOODOOO,GO MOODOOODOOOOOOO.

gb,buodgbobogbbooobogoobog.

10



OO0 5.8. M OJODODOO,oeMOOODODO. O0ODDO,0 GO MOOOODOOOOOOOO
000,00000000000:000 peMOO0OO0,g0=p000 geGOOOOO.

00.0 GOOO MOOOOOOOOOO00,000000000000000.000000
0,000000000000000.0 GO MOOOOOOOOO0OOO00O000. 000
p,ge MOODO.O0000,00000 ¢g1,0€GO0O00D0:

91:0 =p, g2.0 =q. (5.3)
0ooo0,00000000,
—1 _ -1 _ —1 _ _
g1 p=9; -(g1.0)=(g; g1).0=e.0=o. (5.4)
00000,g9=g.9; ' €G0000,gp=q00D0. O

0 5.9.0(2)000 SO(2) 0,00 $'000000000.

O0.005700,S0(2)0 S'000000000000000OOO. R20O0O0O0O0OO0OO
{e1,e2} 000. O0ODOO,e, €S 00000,00 5800,0000000: 000 z€ 8t
0000,ge =2000 geS0O(2) 00000, 000 2 :=Ycosh,sinf) € S' 000. OO
00,2 =*4—sinf,cosf) € S OOO0O,

g:= (x,2") € SO(2). (5.5)

0000,9e,=200000.000,50(2)000000000O0. O

53 00OOOOOO
gooo0o,0bo0boob0boobb,0obboobooboboooo.

00 5.10. (M,s) 0000000, G(M):=(s,|peM)000.0000,M0 00 000
00,000000000: GM)0 MOODOOODOOO.

00 G(M)O D0ooOoooO ooo.

O 5.11. 000O0O0O0OODO MDODODODOOOOO,00000. ODO0000ODOOODOO,000
ano.

00. M OOOOOOOO,00000000000000000000000. 0000000
000,000 p,ge M(p#¢)D0ODODO,

sz(p) =idm(p) =p#q (v eM). (5.6)

ooooo,MoOoOogdo. O

11



0 5.12. 0 2300000000000.
00.000 pgeRO0O0O. z:=2 cRODOO,

sz(p) =22 —p=(p+q)—p=4q (5.7)
OOo000,RO00000. O
00 5.13. G(M;) x G(My) =G(M;, x M) 000000,
000, 0000000 R,Ry, 0000, ((SR)pidzmz) € G(R) x G(Ry) OO
((8r,)P,1dz/mz) & G(R; X Ry,) (p € Z/IZ).
54 00000000 O0OOOOO

00000,0000000000000000D00D000. (My,s1),(M2,s2) D0D0OOOO
goog.

0od 5.14. My, M, 0O0000OOOCO. 0000, M; xM,000000.O00000DOO.

00. M;,M, 000000. 000 z:= (21,%2),y:= (y1,y2) € My x M, 000. 000, M,
00o0o0O0,00 py,...,pm € M; 00000,

(sp) 00 (sp, )™ (z1) =41 (i1, im € Z\ {0}). (5.8)
0ooo,M,0O0O0O0O0,00 ¢,...,qn € M, 0000OO,
(sq)"t 00 (s,)" (w2) =2 (j1,---,Jn € Z\ {0}). (5.9)

ooo, (51);11($1) = 1, (82);21(y2) =y 0ooon, (play2)a ) (pm7y2)7 (xlaql)a SRR (xlaqn) €
M1 X M2 oooaa,

(5(p1,92)) ™ @+ © (S(ppnya) ™ © (S(ar,0))” © =+ 0 (S(ay 0,))77 (w1, 222)

= (S(p1y2) " 0 0 (S(ppuya)) ™ 0 (1)) 0+ 0 ((51)ar )7, ((52)g0)* 0+ 0 ((82)g, )" ) (w1, 22)
= (S(py,y))t 0000 (S(Pm,yg))im (z1,92)

= (((s1)p)™ 00 ((51)p,) "™ ((52)y5)™ 0+ 0 ((52)2) ™) (1, 92)

= (

y17y2)-

11

(5.10)

000,M xM,000OO0OO.
00,M xM,0OOODOOO. My 000O00O. 000 2,91 € M; 000, 000, O
a LL’QEMQDDDD,(.Tl,lig),(yl,ivg)EMlXMgDDD. DD,M1XM2 gooood, od

12



(pl,azg),...,(pm,:cg)EMl x M, OODODOO,

(S(Pl,ﬂm))il ©---0 (8(pm,€v2))im (xlv‘r?)
= (((s1)p)™ 00 ((51)pn) ™ ((52)22)™ 0+ 0 ((82)as) ™) (w1, 22) (5.11)
= (y1,22) (J1,---,Jn € Z\{0}).

000, ((s1)p,) 00 ((81)p,,)™(z1) =9y 0000000, M, 000000. M, 0000
00000000000000. O

b ODOOOODOOOOOOOOO

00 5.15. R, 00000000000O0O0O00D,»000000000.
0000000000, G(R,) 00000000.

00 5.16. 000000: G(R,) = {sp,7p | p € Z/nZ}.

00.00 4300, G(R,) = {sp,rp | p€Z/nZ} 0DDO. O

G(R,) 0,000 O(2)00000000000000.00005500,G(R,) 0 S*00
000.00,%Z/eZ0 $*00000000000000,000 G(R,) 000000000,
00000,00 5300,G(R,) 0 Z/,mZ00000000000. 00,00 515000.

00.G(R,) 0 Z/nZ00000. 0000000000000000000.00,n0000
000D0000.000 #,yeZ/mZ000.0000,00 iceZ/mZ00000,z—y=il
0000.000,i0000000000000000.:000000:00 jeZ/nZ0O00
00,n—i=2j00000.0000,

ri(x) =2j—x=n—i+z=y. (5.12)
i 000000: 00 jeZ/nZ0O00O00,:=200000.0000,
r_j(x)=-2j+z=—i+x=y. (5.13)

00000,G(R,) 0 Z/nZz000000000.
00,»00000000000.000000000000000000,0,1€Z/nZ00
0.000,s0 0000000000, s000:00 i€Z/MZ00000,s(0)=100
0O0000000.000

5i(0)=2i—0=2i=1. (5.14)

000,00000¢000000. r000ODO0OO0OO0ODOOOCUODOODOODOO. DOO,GO
Z/nZ 0000000OOOO. O

ooooooo s14000,00000000D.

13



00 5.17. O0O00O0OO0ODOOUODOOOOOOODOO.0ODO,000D000DOODOOO0ODOOO
gbobogboooogo.

14



6 00O 2
000000000,000000000000000000000 G°%R,) ={r|pcE€
Z/nZ} 0 G(R,) ={sp,7p |p€Z/nZ} 0000. 0000,0000000000000.
6.1 DO00O0O0OD0O0O0OO0DOO0O0OO0DOO0O0OOooDoo
00 6.1. G°(R,) 0 G(R,) 00DDO0ODOO.

00.000 pgqeZ/nZ000. 00 4300,000000:
(1) sporgos, =1r_,.
(2) r—porgorp =14

000, s,G°(R,)sy, =7_p,G°(Ry)rp = {r, | p€Z/nZ} = G(R,) OODO. O
oddd,n0000ooooooooobobon.

00 6.2. n=2k (ke N\{0},k#1) 000, G°(R,) ~Z/KL.

00.G%R,) 0 kKk000D0DOO00ODDO. 000 peZ/nZ0O0DO0O0O,

Thep(@) =2(k+p)+rz=n+2p+z=2p+z=r,(x). (6.1)
ooo,
riy Zidzmz (0 <1<k), (6.2)
r(y = idz/nz. (6.3)
000, GOR,) = (r1) ~ Z/kZ. O

00 6.3. n=2k+1(keN\{0}) 00O, G°(R,) ~Z/nZ.

00.GR,) 0 nD000000D00D000.000 peZ/nZz0000,

re+1)(P) =2(k+1)+p=n+1+p=1+p. (6.4)
noo,
Tty 7 idzmz (0 <1 <n), (6.5)
r?kJrl) =idz/nz-
000, G°Ry) = (raggn) ~ Z/nl. O

oo () 2 ) (5 0) o7



000.0000 D, 00000000000: D, := (t,u).
00 6.4. n=2k+1(keN\{0}))0DDD,G(R,) 00000 D, 000000.

00.00 f:G(R,) = Dy :sp,—t?*u,r,—»t?*» 0000000000000 0OOOO. OO,
fO000000000OOOO:

f(sp) f(sq) = (tPu)(t%u)
_ ( cos(2p2T)  —sin(2p2T) < é 0 ) < 098(2q§z:) — sin(2¢ %) ) < 10

~\sin(2p2F)  cos(2p?F)
_ ( cos(2(p — q)3F)  —sin(2(p — ¢)2T) >
in(2(p —q)37)  cos(2 )

sin
=t = f(rp—q) = f(5p05q).

(6.8)

000, f00000.00,f0000000000,00 g:D, = Gg, it~ g1, u— So O
f000000O0O0O00O0O0OO0. O

00 G(R,)/G°(R,) 00D0O0.
00 6.5. n€Z 000,00 G(R,)/G°(R,) 0000000D0:
G(Rn)/G°(Rn) = {G"(Rn), 50G"(Ra)}. (6.9)
00, G(R,)/G°(R,) ~ 7Z/27.

00. 00, G(R,)/G°(R,) ={G°(R,),s0G°(R,)} 000. 0000000000:
(i) 000 peZ/nZ 0000 50G°(Ry) = s,G°(Ry).
(i) 000 peZ/nZ 0000 G°R,) =r,G°(R,).

()0,000 peZ/nZ0DOO0DODOO 4300,

50G°(R,) = {s, | p € Z/nZ} = G(R,) = 5,G°(R,,). (6.10)
000, seGY =s,G% 000. (ii)0000,000 peZ/nZ000000 4300,
G(R,) = {rp | p € Z/nZ} = G(R,) = r,G°(R,). (6.11)

0o0d, G°R,) =r,G°R,) 0DDO.
00, G(R,)/G°(R,) ~Z/2Z000. 000,

(50G°(Rn))? = (50)°G°(Ry) = idz/nzG°(Ry) = G°(R,,). (6.12)

000, G(R,)/G(R,) ~Z/2Z. O
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